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GENERAL INSTRUCTIONS:
1.This paper is divided into three sections.
2.All the sections are compulsory.
3.Do not exceed the prescribed word limit while answering the
questions.
4. Write your name, class, section, and roll nhumber on top of the
answer sheet.
SECTION A (8 MARKS)

READING

A) In these trying times, when buying ordinary foodstuff can burn a
hole in your pockets, comes the news that can actually help us save
some hard cash when we go out to shop the next time. According to a
Stanford University study, the first of its kind in the world, there is no
evidence to suggest that there are more nutritional benefits from
expensive organic food than those grown by conventional methods.
The researchers add that there is no difference in protein and fat
content between organic and conventional milk and the vitamin count
is similar in both types. The only benefit is that organic foods are not
contaminated with pesticides but then before you chew on the plate of
organic okra with roti made of organic wheat, they are not
100%pesticide free either. In India, organic food has been growing at
20-22%and the export market is valued at rupees 1000 crore.
Obviously, the study is not good news for that sector and for people
who are big on organic food.In India, eating organic food is more of a
style statement than due to health worries because the stuff is
expensive. But people can indulge in not only organic vegetables but
even organic eggs laid by ‘happy hens’ who are allowed to roam
around freely whereas unhappy hens are kept in coops. Then there
are companies that have installed music channels in their cowsheds
and the milk from those sheds is sold at the marked- up price since it
has more nutritional value because the animals are happy thanks to
lilting 24X7 music. We don’t know yet another farmer using music to
improve his crop quality, but then you never know: plants are known
to respond to music.



Why such pickiness about food? These days a huge number of TV
shows and articles that we read on food provide bread and butter for
the specialist. But instead of decoding food, its sources and what has
gone into growing it, it isn't much better to enjoy what’s on the plate.

1. On the basis of reading the above passage, complete the
following statements with suitable words and phrases:(1X8=8)

a. Buying organic foodstuff in these trying times can be :

b. Organic and conventional milk has the and content
and the vitamin count is also similar in both.
c. According to a Stanford University study, organic food in relation to
conventional food is
d. One benefit of organic food is a
e. Milk from cows that have music channels mstalled in a
cowshed is
f. InIndia, eating organic food is a
g. According to the author, it is much better to_ have food on one’s
plate rather than

B) The advent of the digital age makes public libraries obsolete.
Advancements in technologies and changing cultural moves have
made traditional public libraries difficult to exist. With the decline of
physical books comes the necessary decline of the physical library.
The internet is bringing about a culture where information and files are
shared freely, negating the need for public institutions to hoard and
distribute books. This has already been observed in music and
videos. Despite their best efforts, recording companies cannot stop
the inevitable free sharing of data. The same process is underway with
books. Already there is a collection of commercial books which have
been scanned into digital formats and are available for download. In
the future, it will be very difficult to justify the larger relative cost of
running a traditional library. There are trends that indicate that
traditional libraries will soon become obsolete.

On the basis of reading the passage, answer the questions that
follow: (1X12=12)

a. What is the change brought in libraries, with the advent of the
internet?

b. Which process is underway with books?



c. Comment on the traditional libraries moving ahead towards being
obsolete?
d. Justify the obsoletion of traditional libraries by giving a
reason.
e. Find the antonym of “modern” from the passage.
f. Frame a sentence on “underway”
dg. Which title best suits the passage:
1. The advent of the internet

2. The obsoletion of public libraries.
3. The obsoletion of physical libraries.
4. Advancement of technology and physical libraries.

h.The advancement in technologies has certain:
1. Disadvantages
2. Advantages
3. No effects
4. perfections
i. The areas affected due to advancement of technology are:
1. Music
2. Libraries and music
3. Traditional libraries and videos

4. music, and videos

j- “Music companies stop free sharing of data”. This statement is
1. Completely true
2. Completely false
3. Partly false
4. Partly true
k. What shows that traditional libraries are heading towards
obsoletion?
1. Graphs
2. Line graphs
3. Trends
4. Data
.  Which fact about Physical libraries is not true?
1. Feeling the smell of books gives you another level of
excitement.
2. Books are a complete waste of time.
3. The effect on the eyes is comparatively lesser.
4. Books are our traditional heritage.



SECTION B (30)
WRITING AND GRAMMAR
C) You are Priyal/Priyansh of Divine Public School. You have to visit
your hometown for a family function for 3-4 days. Write a
leave application addressing the Principal of your school, asking
her to grant permission. (8)
OR
C) You are Riya/Riyansh of Holy Child Public School. Write a leave
application addressing the Principal of your school, seeking her
permission to grant you leave as you have contracted conjunctivitis.

D) You are Srinivas/ Srinidhi of Army Public School. Draft a
notice inviting volunteers for an upcoming cleanliness drive
scheduled for 2nd October in the close vicinity of your school.
You are the Head Boy/Head Girl of your school. (4)

OR

D) You are Shalini/ Shreyas of Blossom Public School. Your school
is organizing an inter-house painting competition. Draft a notice
inviting entries from children. You are the Cultural head of the
school.

E) Unjumble the following sentences: (1X3)

a. Nature/ calming/ been/ found /to/ have/ has/ a/lon/ our / effect
Istress/ levels.

b. do/can/ more /physicians/ Nature / than

c. proximity/nature/important/to/veryl/is/it/have

F) Fill up the blanks using adverbs (1X2=2)

a. The soldiers fought .(brave)

b. His father speaks (sweet).

G) Use the verb as a transitive and intransitive verb (1X2)
a. Speak

b. fly



H) Fill up the blanks using the correct form of verbs:(4)

a. Shreya for a walk every morning. (go)
b.Poonam to the play yesterday. (contribute)
c. Yippee, yesterday we the party. (enjoy). Shivam

an amazing cake for all of us(bake)

I) The following passage has not been edited. There is one error in
each line. Write the incorrect and the correct word. (4)
Incorrect correct
Children are fond to coconut. It is the
big of all nuts, and is indeed
a wonderfully fruit. It grow on a tall palm
tree and is found in tropical countries,round
the seashore.
J) Do as directed:(3)

1.February is than September. (cold)
2.Priya basket is pink in color. (Use apostrophe).
3.Have you got potatoes? (any/either)
SECTIOND
LITERATURE (30)

K) Read the extract given below from “Just be up and doing” and
answer the questions. (1X4)

“All of you sitting, sighing;

Never will conquer fate”
a.Analyze the main idea that the poet wants to convey in the given
couplet?
b. Name the poetic device used in the couplet.
c. Which mantra has been suggested by the poet to win over your
fate?
d. Which word from the extract can be replaced with “to succeed in
controlling”?

L) Read the extract given below from “Monday morning blues”
and answer the questions. (1X4)



“The old lady sank down in her chair with relief. She laughed a little,
then cried a little, then did both together.”
a. “Excuses made by Tom were lame excuses”. How did Aunt
Polly react to this?
b. Elucidate the implied meaning of the phrase “sank down
in chair”
c. What did Aunt Polly finally do to resolve the problem?
d. Which word can replace “to move downwards usually by
falling or sitting down”?
M) Answer the questions that follow. Do any six. (2X6=12)
a. What kind of book did Benny want?
b. How did the books leave the house?
c. Why could Benny not bear to return books?
d. Why did the Ekalavya family live away from Hastinapur?
e. Why did Drona ask for Ekalavya’s right thumb as
“Guru Dakshina "?
f. How did Swaminathan feel when he saw the word “TAIL” written on
the board?
g. Taking reference from the poem” Just be up and doing”
how can fortune be won only through complete devotion?

N) In Indian culture, the teacher/guru is considered next to God.
Do you approve of Somu’s and Mani’s attitudes toward their
Tamil teacher? How should students behave with their teacher? (4)

OR
Imagine Benny borrowed a book from you and has not returned it back.
How would you convince him to return your book and all the other
things that he has borrowed from other people?

O) Imagine that you are Tom from “Monday morning blues” You were
very upset that Monday morning and did not want to go to school.
Record your experiences in the form of a diary entry. (6)

OR
Imagine that you are Benny from “The boy who borrowed”. You were
very tensed to see books moving out on their own and could do
nothing to come out of the tensed situation. Record your experiences
in the form of a diary entry.



HALF YEARLY EXAMINATION
ANSWER KEY
SAMPLE PAPER ENGLISH (2023-24)
CLASS V
A 1. Expensive
2. Protein and fat
3. Similar
4. Not contaminated with pesticides
5. Is sold at marked up price.
6. Is a style statement
7. Finding its source.
B 1. The advent of the digital age makes public libraries obsolete.
2. The free sharing of data is underway.
3. With the advent of digital libraries, the traditional libraries are
on the verge of depletion.
4. Advancements of technologies and changing cultural moves are
responsible for this.
5.traditional
6. Underway- discussions are still underway before the final
decisions are made.
7. 4. Advancement of technology and physical libraries.
8.1. Disadvantages
9.4. music, and videos
10.1.Completely true
11.3.Trends
12.2.Books are a complete waste of time.

E. 1.Nature has been found to have a calming effect on our stress
levels.
2.nature can do more than physicians.
3. It is very important to have close proximity with nature.
4.1t naturally cures most of the diseases.

F
a. The soldiers fought bravely
b. His father speaks sweetly.



G speak-She speaks softly.
She speaks strong sentences.
Fly- The bird flies high
The bird flies to the next building.
H-
a. Shreya goes for a walk every morning.
b.Poonam contributed to the play yesterday.

c. Yippee, yesterday we enjoyed the party.Shivam baked an amazing
cake for all of us.

I
Children are fond of coconut. It is the
biggest of all nuts, and is indeed
a wonderful fruit. It grow on a tall palm
tree and is found in tropical countries,around
the seashore.
J
1.February is colder than September.
2.Priya’s basket is pink in color.

3.Have you got any potatoes?
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SAMPLE PAPER (2023 - 24)
CLASS -V
SUBJECT - MATHEMATICS

TIME : 3 hrs M.M. : 80
General Instructions :

1) This paper contains section A, B, C and D.

2) Section A contains 20 questions of 1 mark each.

3) Section B contains 12 questions of 2 marks each.

4) Section C contains 8 questions of 3 marks each.

5) Section D contains 3 questions of 4 marks each.

6) All questions are compulsory. However some internal choice has been
given.

SECTION A (20x 1= 20)

Choose the correct option.
Q1. The sum of greatest 6 digit number and its predecessor is:
a) 9,99,999 b) 9,99,998 c) 19,99,997 d) 19,99,999

Q2. Digit at the ones place of the product of 926 and 310 is
a) 9 b) 0 c) 8 d) 6

Q3. Find the sum of prime numbers between 0-10.
a) 16 b) 17 c) 20 d)18

Q4. Which of the following cannot be the angles of a triangle ?
a) 30°, 50°,100° b) 44°,56°,80° ¢) 85°, 75°,20° d) 25°, 75°, 80°

Q5. Find the difference in the place value of 7 in 375.872 a)
70.07 b) 69.3 c) 69.93 d) 699.93

Q6. How many minutes are there in % of an hour?
a) 24 b) 120 c) 12 d) 60

Q7. Which of the following fraction is in ité lowest term:
a) 12/24 b) 36/41 c) 24/56 d) 63/75



Q8. Which of the following can be the third side of a triangle whose two
sides are 8 cm and 10 cm respectively ?

a) 20 cm b) 19 cm c)11 cm d) 18 cm

Fill in the blanks

Q9. Findthe sum: 111.11 +11.111 =

Q10. Reciprocal of 2 s is

Q11. Two angles of a triangle measure 40° & 50°. It is a type of
triangle.

Q12. In an obtuse triangle, if one of the angles is obtuse, then the
other two angles are always angles.

Q13. 2 crore = millions

Q14. 2 Hundreds + 0.002 + 5 Tenths + 7 Ones + 5/100 =

Q15. 50 more than 116.45 is

Assertion and Reasoning
Q16.  Assertion: 2, 13, 17, 19 are prime numbers.
Reason : Numbers Having more than 2 factors are called
composite numbers.
(a) Both assertion (A) and reason (R) are true and reason (R) is the
correct explanation of assertion (A)
(b) Both assertion (A) and reason (R) are true and reason (R) is not
the correct explanation of assertion (A)
(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true

Q17. Assertion : 86,986,701 is the correct way of writing as per the
International System of Numeration
Reason : 10,000,000 is the sequence of commas in the



International system.

(a) Both assertion (A) and reason (R) are true and reason (R) is the
correct explanation of assertion (A)

(b) Both assertion (A) and reason (R) are true and reason (R) is not
the correct explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true

Correct the following Statements

Q18. The sides of an isosceles triangle are of equal length.

Q19. The prime factorisation of 90 =2 x 5 x 9.

Q20. 1 is a multiple of every number.

SECTION B (12x2 = 24)

Q21. Sum of three decimal numbers is 345.098. If two numbers are
134.256 and 98.707, then find the third number.

Q22. i) Write the numeral for the number : Eight lakh twenty nine
thousand and thirty two.

i) Find the difference in the place values of digits on Ten thousands
place and Tens Place.

Q23. Multiply 5/21 by the sum of 3/20 & 4/20.

Q24. One of the angles in a right triangle measures 39.5°. Find the
measure of the other two angles.

OR

Find the value of /ACB.
Also mention the type of triangle.




Q25. Find the prime factorisation of the greatest 2 Digit Even Number. Also
find the sum of prime factors obtained.

Q26. i) Arrange in descending order
12.053, 12.503, 12.305, 12.3

i) Compare ( >,<,=)
200 +40+ 7+ 8/10 + 9/1000 200+40+7+0.9

Q 27. Priya completed 4/9 of her work & Shreya completed 2/7 of her work.
Who finished more work?

Q28. Write number names for the following numerals by observing commas
between periods.

a) 6,89,40,381 -

b) 743,600,586-

Q29. Write all the prime numbers that lie in between 20 and 40. Also find
their sum.

Q30. The difference between two decimal numbers is 176.982 . If the
smaller number is 29.095, find the greater number.
OR

Sam weighs 65.56 kg and his brother weighs 2.758 kg less than Sam. Find
the weight of his brother.

Q31. A company earned a profit of P 50,28,000 last year. If they want to
distribute the profit equally among their 24 employees. How much will each
employee receive?

OR

An engine pumps 4,62,600 liters of water in 6 hours. How many liters of
water will the engine pump in one minute?

Q 32. Shikha earns P 2550 in a week. What amount of money will she earn in
a year?

SECTION C (8x3=24)

Q33. i) Is it possible to construct a triangle with angles measuring
64.5°, 21.5°and 95°? Give Reason

ii) Find whether it is possible to draw a triangle with line segments of
lengths 3cm , 5 cm and 8 cm . Give Reason

Q 34. Case study



Neha is a loving and caring child. On her mother's birthday, she planned
to decorate her room with colorful ribbons and balloons. She used 4.5 m
red ribbon, 3.65 m yellow ribbon, 5.8 m blue ribbon and lots of balloons
for decoration. She decorated her room beautifully and made her
mother's birthday special.

(@) Find the total length of the ribbons bought by Neha ?

(b)Subtract the smallest length from the biggest length of ribbon.
(c) If she purchased a roll of 10m yellow ribbon, find the ribbon

left.

Q35. i) Find the LCM of 36 and 45.
ii) Find the HCF of 36 and 45.
iii) Show that LCM X HCF = Product of Numbers.

Q36. (i) Form the smallest 8-digit numeral using the digits 6, 2, 8, 0, 9, 1,
4, and 5 only once.

i) Write its successor & predecessor.

(iif) Write the number name of the numeral formed in the International
System of Numeration.

Q37. (a) Rahul has18 oranges, 27 pears and 12 bananas. He wants to make
a fruit basket with an equal amount of each fruit in each basket. What is the
largest number of fruit baskets he can make?

(b) Write the L.C.M of 1st odd composite number and 1st prime number.
Q38 Do as directed :

a) Write 2.93 as a mixed number.
b) Write the fraction for 0.004 in simplest form.
c) Write the decimal form for Thirty two and forty six thousandths.

Q 39. Arrange the following in ascending order :
3/10,7/15,5/8 ,1/3

Q40. Subtract 53,690 from the sum of 25,654 and 3,23,999.

SECTION D (3x4=12)




Q 41. The given table shows the money earned by a showroom after selling
these vehicles

Vehicle Money earned (%)

Tractor 3,45,870
Car 8,36,300
Bike 1,75,569

Answer the following questions on the basis of given data.

a) Find the total amount received by the showroom.
b) How much more money does a company earn by selling cars
than bikes?

Q42. a)
6

Which is greo’{er?2+ LOR -—2
5 7 2 11

b) Write the fraction for the shaded portion ?

A AN

Q43. Look at the given number and answer the following questions:-
389.045

a) What digit is in tenths place ?
b) What is the place of 5 ?

c) Write number name

d) Write expanded form

SAMPLE PAPER (2023 - 24)
CLASS -V
SUBJECT - MATHEMATICS
ANSWER KEY




Q NO. SOLUTION MARKS
1 c) 19,99,997 1
2 b) 0 1
3 b) 17 1
4 d) 25°, 75°, 80° 1
5 c) 69.93 1
6 a) 24 1
7 b) 36/41 1
8 c)11cm 1
9 122.221 1
10 5/11 1
11 right 1
12 acute 1
13 20 1
14 207.552 1
15 166.45 1
16 C 1
17 a 1
18 The sides of an equilateral triangle are of equal length. 1
19 The prime factorisation of 90 =2x5x 3 x 3 1

20 1 is a factor of every nhumber. 1
21 Sum = 345.098
134.256 + 98.707 = 232.963 1
Third Number = 345.098 - 232.963 = 112.135
22 i) 8,29,032 1
ii) 20,000 - 3 = 19,997 1
23 5/ 21 x ( 3/20 + 4/20)

5/21 x 7120
1/12




24 39.5° + 90° + 3rd Angle = 180° 0.5
129.5° + 3rd Angle = 180° 0.5
3rd Angle = 180° - 129.5°
3rd Angle = 50.5° 0.5
Other two angles are 90° & 50.5°. 0.5

OR
<A+.B+ ,.C=180°
0.5

40° +90° + . C =180° 0.5
130° + 2 C =180°

“ 0.5
< C=180°-130° 0.5
< C=50°
It is a right triangle.

25 Greatest 2 Digit Even Number = 98 0.5
98=2x7x7 1
Sum of Prime Factors=2+7+7=16 0.5

26 i) 12.503 > 12.305 > 12.3 > 12.053 1
i) < 1

27 4/9 & 2/7
4 x7 2x9 0.5
28 > 18 0.5
So, Priya completed more work. 1

28 a) 6,89,40,381 - Six crore eighty nine lakh forty thousand 1
three hundred eighty one.

b) 743,600,586 - Seven hundred forty three million six 1
hundred thousand five hundred eighty six.

29 Prime Numbers between 20 and 40 = 23, 29, 31, 37 1
Sum =120 1

30 Difference = Greater No. - Smaller No.

176.982 = Greater No. - 29.095 0.5
176.982 + 29.095 = Greater No. 0.5
206.077 = Greater No. 1
OR
Weight of Sam = 65.56 kg 8-2
Weight of his brother = 65.56kg - 2.758kg 1
=62.802 kg
31

Profit = Rs. 50,28,000




No. of employees = 24
Money received by each employee= Rs.50,28,000 / 24
=Rs. 2,09,500

OR
Water pumped in 6 hours = 4,62,600 liters
Water pumped in 360 mins = 4,62,600 |
Water pumped in 1 min = 4,62,600 | / 360
=1,2851

0.5

0.5

0.5
0.5

32

Money earned in 1 week =P 2550
Money earned in 52 weeks (1 Year) =P 2550 x 52
=P 1,32,600

33

i) Sum = 64.5°+ 21.5° + 95° = 181°

As the sum of angles is not 180°, it is not possible to
construct the given triangle.

i) 3cm + 5cm = 8 cm

The sum of two sides is not greater than third side, so it is
not possible to construct the triangle with given line
segments.

0.5

0.5

34

(a)Total length of ribbons = 4.5m + 3.65m + 5.8m
=13.95m
(b)Biggest Length = 5.8m
Smallest Length = 3.65m
Difference = 2.15m
(c) Yellow Ribbon Left = 10m - 3.65m = 6.35m

35

i) LCM =180

i) HCF =9

iii) LCM X HCF = 1620

Product of Numbers = 36 x 45 = 1620

36

i) Smallest 8 Digit Number = 1,02,45,689
i) Successor = 1,02,45,690
Predecessor = 1,02,45,688
iii) 10,245,689 = Ten million two hundred forty five
thousand six hundred eighty nine.

37

(a)Largest Number of Fruit Baskets = HCF of 18, 27
and 12
HCF =3
So, 3 baskets can be made.
(b)1st odd composite number =9
1st prime number = 2
LCM =18

38

(2)2.93 = 293/100 =




(b)0.004 = 4/1000 = 1/250
(c)32.046

39

3/10 ,7/15,5/8 ,1/3

LCM =120

3/10 = 36/120

7/15 =56/120

5/8 =75/120

1/3 =40/120

75/120 > 56/120 > 40/120 > 36/120
5/8 >7/15>1/3 > 3/10

0.5
0.5
0.5
0.5

40

(25,654 + 3,23,999) - 53,690
3,49,653 - 53,690
2,95,963

41

(a) Total Amount = 3,45,870 + 8,36,300 + 1,75,569
=P 13,57,739
(b)8,36,300 - 1,75,569 = 6,60,731

NN

42

a) 9/5 + 4/7
LCM =35
63/35 + 20/35
83/35

3/2 - 6/11
LCM = 22
33/22 - 12/22
21/22

Now, 83/35 and 21/22
83 X 22. 21 X35
1826 > 735
So 85/35 > 21/22

b) 10/3 or

43

a) 4

b) Thousandths

c) Three hundred eighty nine point zero four five
d) 300 + 80 + 9 + 4/100 + 5/1000







MAX MARKS: 80

SAMPLE QUESTION PAPER
SCIENCE
CLASS 5 (2023-24)

General Instructions:

1. This question paper consists of 38 number of questions divided in 5 sections.
All questions are compulsory , however an internal choice is given in some questions. A student is

N

Nownhw

(Q 1 to 8 are multiple choice questions for which four options are given. Choose the correct option.)

expected to attempt only one of these questions.
Section A consists of objective type questions carrying 1 mark each.

Section B consists of 7 Very Short answer type questions carrying 2 marks each.

Section C consists of 7 Short Answer type questions carrying 3 marks each.
Section D consists of 3 Long Answer type questions carrying 5 marks each.
Section E consists of 2 case based studies of 4 marks each with sub parts.

SECTION A

Q1. The backbone in humans protects the

i)

ii)
iii)

iv)

Bone marrow
joints

spinal cord
Femur

Q2. Identify E and B in the following picture of human eye:

i)

A

B

E/ C
D

E — cornea, B — Pupil

TIME ALLOTED : 3 hrs

i) E — Retina , B —Iris
iii) E — Optic nerve, B — Iris
iv) E — Optic nerve , B —lens

Q3. Select the plant pair that shows similar mode of vegetative reproduction

i) Rose, carrot

i) Ginger , bryophyllum
iii) Sweet potato, Dahlia
iv) Coconut, beetroot

(1)

(1)

(1)



Q4. Refer to the given figure and select the correct option about the parts of 2 and 3 of seed. (1)

i) Part 3 gives rise to the leaves of the new plant.
i) Part 2 gives nutrition to the young plant .

iii) Part 2 gives rise to the new plant

iv) Both (i) and (ii)

Q5. In an environment how are food chains and food webs different? (1)
i) Food webs begin with animals and food chains begin with plants.

i) Food webs are long and food chains are small.

iii) Food chains show the relationship between many different food webs in a single ecosystem.

iv) Food webs show the relationship between many different food chains in a single ecosystem.

Q6. The Wildlife Protection Act was enacted by government of India to (1)
i) Control poaching and illegal trade in wildlife

i) Control poaching and legal trade in wildlife

iiii) Control coaching and illegal trade in wildlife
iv) Control encroaching and legal trade in wildlife

Q7. The spread of malaria can be prevented by (1)
i) Spitting on roads

i) Coughing without covering the mouth

iii) Keeping the surroundings clean

iv) Having stagnant water around the house

Q8. Your neighbouring friend has dullness in eyes and is unable to see in dim light. As a best friend you will
suggest him to consume more of (1)

i) Milk and dairy products

i) Green leafy vegetables
iii) Bread and cereals
iv) Fat, salt and sugar

(Q9 and 10 are assertion reason type questions . Choose the correct option for each. The options are

a) Both A and R are True and R is the correct explanation of A. (1x2)
b) Both A and R are True but R is not the correct explanation of A.

¢) A is True but R is False.

d) A is False but R is True.

e) Both A and R are False.



Q9. Assertion (A) : Three fourth of the surface of Earth is covered with water.
Reason (R): 97% of water is present in seas and oceans
Q10. Assertion (A) : Frog is an amphibian.
Reason (R) : Frog can live both on land and in water .
Q11. Justify the following statements: (1+1)
a) Vitamins and minerals are an important part of balanced diet

b) Last two pairs of ribs are called as Floating ribs.

Q12. Draw a diagram to show how insects like cockroaches smell and taste with help of their sense organ.(1)

Q13. Complete the following analogy correctly with a word or phrase . (1+1)
i) Papaya : reproduction through seeds :: banana
ii) Roots: absorption :: stem:
Q14. Define Wildlife. What all places do you find wildlife? (1+1)
Q15. Discuss the role of Carbohydrates and Proteins in our body. (1)
Q1le6. “Deficiency diseases are called as Non communicable diseases.” Give reason. (1)
Q17. lllustrate the importance of water in plants with the help of a diagram. (1)
Q18. How does water help in excretion of waste material from animal bodies? (1)
Q19. Drawing out groundwater from a well is different from that of a step well. Justify. (1)
SECTION B
Q20. The shoulder joint is completely different from the knee joint. Explain . (2)
Q21. Suggest what would happen if : (2)

a) our backbone was made of just one straight bone.
b) there was no lateral line on the body of a fish.

Q22. On a nature walk , Shilpi asked her teacher that in nature we find some plants that grow from seeds and
some grow without seeds. (2)

a) Name and define the method by which plants growing without seeds reproduce.
b) State the function of cotyledon in a seed

Q23. Identify and name the given plant. Write briefly how is it different in meeting its food requirement from
other plants. (2)



Q24. My neighbour was telling yesterday that her sister had called to inform that in her village people
nowadays are scared to sleep outside as a leopard visits their village often and carries away small

children and has become a man eater.
i) What kind of animal is leopard?
ii) Leopard has become a man eater. Give reason.

(2)

Q25. Explain the importance of Food Pyramid. Draw any one food item that should be eaten moderately as

per the food pyramid.

Q26. Describe the water supply system used in towns and cities

SECTION C

Q27. Justify the following statements :

a) Bone marrow is called as the factory of making blood cells .

b) Human skin is an important sense organ.

c) cartilage coated bone ends along with slippery fluid keep the bones safe.

Q28. Complete the given table:

(2)
(2)

(3)

(3)

SEED NAME OF PLANT

METHOD OF DISPERSAL

Q29. Observe the below given food web and answer the following questions:

(3)
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a) Name the producers in the above food chain
b) What is likely to happen if the rabbit population decreases all of a sudden.
c) Name any other animal that can replace snake in this food chain

Q30. Interpret the below given graph and answer the questions that follow: (3)
TS'_;
15 o ]
127
] Key:
Species | % 9 B Extinct
. O Endangered

[ ]

L1 L

Reptiles Birds Mammals

a) What is the maximum and minimum percentage of species that have become endangered? Also,
name these endangered animal species .

b) What percentage of mammals have become extinct?

c) Identify how the pattern in mammals is different from birds and reptiles?

Q31. Define Wildlife Trade. List any 2 animals and their body parts for which they are killed. (3)
Q32. Define Malnutrition. Suggest any 2 ways by which it can be prevented. (3)
Q33. Complete the following table: (3)
NUTRIENT/MINERAL DEFICIENCY DISEASE SYMPTOMS
Vitamin D

Enlargement of glands in neck

Vitamin C

BERI- BERI




SECTION D

Q34 a) Draw a diagram to show the various stages of seed germination.

b) Rajma seeds when soaked overnight swell up the next day . Why?

c) Name two plants with seeds containing two cotyledons.

Q35. a) Name any two diseases that are spread through the bite of mosquitoes.

b) Define Health. List 2 factors for maintaining good health.

(2)
(2)
(1)
(2)
(2)

c) Sameer witnessed a Vaccination drive in his locality and asked his mother about the importance of
vaccination. What explanation the mother must have given to Sameer?

(1)

Q36. Study the given data based information on the usage of surface water and groundwater in India and
answer the following questions

Surface Water Withdrawals Groundwater Withdrawals
Domestic Domestic
9% 3%
Industrial Industrial
2% 5%
Apriculture Agriculture
595 925

a) Define Groundwater. How is it drawn using a tube well? (2)
b) Which sector accounts for most of the groundwater usage? Give reason . (2)
c) Why is the share of water usage in domestic sector lower in groundwater as compared to surface

water? (1)

SECTION E

(Q 38 and 39 are case based studies.)

Read the case studies and answer the gquestions that follow:

Q37. There are five basic human senses —touch, sight, hearing, smell and taste. Pressure, temperature,
light, touch, vibration , pain are all part of the touch sense. Eyes function as the organ of vision. Vision
allows humans to interpret brightness and colour. Ears perceive sound through the mechanism of inner ear
and is responsible for our ability to hear. The nose is used to perceive smell. The tongue is the organ
associated with taste . The tongue has many taste buds. Skin is associated with sense of touch. The skin
has many cells called receptors that sense various sensations and then communicate that information to
brain.

a) Based on the above passage list any four sense organs in humans along with the function of each.(2)
b) i) The bone present in the human ear . (1)

ii)The nerve that connects eye to the brain .
c) How can our sense of hearing be compared with that of a bat? (1)




Q38. The production of new individuals from their parents is known as reproduction. Most plants have
roots, stems and leaves. These are called the vegetative parts of a plant. After a certain period of growth, most
plants bear flowers. You may have seen the mango trees flowering in spring. It is these flowers that give rise to
juicy mango fruit we enjoy in summer. We eat the fruits and usually discard the seeds. Seeds germinate and
form new plants. Flowers perform the function of reproduction in plants. Flowers are the reproductive parts of
a plant.

a) The process by which a new individual produces more of its own kind is called (1)

b) Name the vegetative parts of a plant. (2)
€) Which part of the plant is involved in reproduction? (1)



MARKING SCHEME
SAMPLE PAPER
SCIENCE
CLASS 5(2023-24)

.NO VALUE POINTS MARKS ALLOTED
1 | Spinal cord 1
2 E-optic nerve, B- iris 1
3. Sweet potato, dahlia 1
4 Bothiandii 1
5 Food webs show the relationship between many different food chains in 1
an ecosystem
6 Control poaching and illegal trade in wildlife 1
7 Keeping the surroundings clean 1
8 Green leafy vegetables 1
9 Option b 1
10 | Optiona 1
11 a) They protect us from diseases 1+1
b) Last 2 pairs of ribs are attached only to the backbone and not to
the breastbone
12 | Diagram of a cockroach with feelers 1
13 a) stem 1+1
ii)transportation
14 | plants and animals that live and grow in their natural surroundings . 1+1
Found in plains, rivers, mountains ,seas, deserts etc
15 | Carbohydrates provide us with energy and proteins help in body building 1+1
and repair of worn out tissues
16 | Deficiency diseases are caused due to deficiency of nutrients and they do 1
not get transmitted from one person to other
17 | Water used for seed germination, photosynthesis 1
18 | The waste get dissolved in water and is excreted in the form of urine 1
19 | A well uses a pulley, stepwell has steps to go down and fetch water 1
20 | Shoulder joint has ball socket type of joint whereas knee joint has hinge 2
joint. A ball and socket joint can move in all directions but hinge joint can
move only in one plane.
21 | a)there would be no flexibility and we will not be able to bend or move 2
properly
b)the fish will not be able to feel the waves and detect its predators or
enemies
22 | a)vegetative reproduction — the method by which plants reproduce 2
through different parts of a plant
b)cotyledon or seed leaves provide nutrition for the growth of the future
plant
23 | Venus fly trap. This plant grows in soil poor in nitrogen salts and thus 2
traps insects for extra nourishment.
24 | a)Aleopard is a wild animal. 2
b)the forest areas are being destroyed by human beings by cutting of trees
as a result of which the wild animals are losing their habitat. Hence they
come into villages and towns and become man eaters by attacking people
for food.
25 | A food pyramid shows the proportion of food stuffs and nutrients that we 2




should eat for making our food balanced and good for our health.
Diagram of any food item that should be eaten moderately

26 | Water from rivers is supplied after purification through a system of 2
pumps and pipes
27 | a)bones have channels that contain blood vessels . They also have nerves 3
that are necessary to keep them alive
b)206
c)calcium and phosphorus
28 | 1.cotton plant, dispersal by air 3
2.Cockleburr , dispersal by humans and animals
3. Pea plant, dispersal by cracking and bursting
29 | a) green grass 3
b) if rat population decreases there will be rise in the production of green
grass and snakes will decrease in number .
c) wild cat/ cats
30 | i)we need to protect wild life as they form an important part of many food 3
chains. If they are killed , many other animals in the chain get affected.
ii)wildlife trade is harmful as it results into loss of many animals
/extinction of animals
iii)as they also eat more than one kind of animals to meet their food
requirements.
31 ENDANGERED ANIMALS EXTINCT ANIMALS 1.5+1.5
Animals that are in danger of Animals that are no longer living
becoming extinct and have become already extinct
Eg African elephant Eg passenger pigeon
32 | Malnutrition is a condition caused by improper or inadequate 3
nourishment.
2 ways of prevention: take a balanced diet, follow good food practices and
habits
33 1. Rickets, bow shaped legs, soft and weak bones 3
2. lodine, goitre
3. Scurvy, swollen and bleeding gums, painful joints
34 | a)diagram of photosynthesis as on pg 14 2
b)all seeds do not germinate as they do not get proper favourable 2
conditions like air ,water, soil and warmth . 1
c)wheat, rice ,maize (any 2)
OR
a) diagram of seed germination as on pg 17
b) water enters the seeds through micropyle a small hole in the seed
which swell up the seeds
c) gram, bean
35 a) Dengue, malaria 2
b) The state of complete physical and mental well being . 2
2 factors- balanced diet, regular exercise (any other relevant point)
¢) Vaccination prevents our body from future illnesses and provides 1
immunity so covid vaccine is given for developing immunity so that
it can be prevented in future
36 | a)the water trapped in between the underground rocks is ground water. 2

Water is supplied in towns and cities through a system of pumps and
pipes. The river water is purified and then supplied to homes and offices .




b) Domestic-3% , industrial -5% 2
c) Agriculture 1
37 a) Eyes to see, ears to hear, nose to smell, tongue to taste, skin to feel 2
b) i)stirrup/stapes ii)retina 1
c) bats have a special ability to hear high pitched sounds called 1
ultrasonics which is lacking in humans
38 a) reproduction 1
b) stem, roots, leaves . Flower changes into fruit 2
c) flower 1







HALF YEARLY EXAMINATION
2023-2024
CLASS-V
SAMPLE PAPER
SOCIAL SCIENCE

TIME ALLOWED - 3 HOURS M.M- 80

General Instructions

Questions paper comprises of Six Sections- A, B, C,D, E and F. There are 39
questions and all questions are compulsory

Section A :- Q1 to Q20 carrying 1 mark each

Section B:- Q21 to Q28 carrying 2 marks each

Section C:- Q 29 to 31 Carrying 3 marks each

Section D:- Q 32 to Q35 carrying 5 marks each.

Section E :- Q36 and Q37 carrying 4 marks each

Section F:- Q38 and Q39 are Map based questions. Both the maps should be
attached inside the answer sheet.

SECTION A :- OBJECTIVE TYPE QUESTIONS (1X20=20)

1.

Complete the analogy:-

Shifting agriculture : abandon the land :: : Extra labour

gopY

RopoY

2. Rahul migrated to Unites States because he got a scholarship for higher

studies in Oxford University. What type of migration is it ?

Forced Migration
Voluntary Migration
Seasonal Migration
Animal Migration

It was a sunny day. Ram was watching a movie with his family. Suddenly he
heard a loud noise coming from his neighbour’s house. If you were in Ram’'s
place, what would you do?

Ignore the noise and continue watching the movie.

Start shouting 'Please help them’

Wait for others to find out.

Go to your neighbours and try to find out the reason




4.

Match the Following

Column A Column B

1.SAINA NEHWAL | a.EXHIBITION

2.URBAN VENUE | b.SPORTS

3.CHAUPAL c.POLO
4.LADAKHIS d.NEWSPAPER
a. 1-b, 2-a,3-c,4-d
b. 1-b, 2-a,3-d,4-c
c. 1-a, 2-b,3-c,4-d
d. 1-b, 2-c,3-a,4-d

5.

Read the statements and choose the correct option

Statement A:- Story Telling is an art.

Statement B:- The narrator can not use expressions and voice modulation.

gaop

ROopY O

N

ROopHO®

Only Statement A is correct

Only Statement B is correct

Both Statements A and B are correct
Both Statements A and B are incorrect.

The Word & kathai “ stands for
Reading

Painting

Story

Sketch

Dr Verghese Kurien is known as the father of Revolution

a. Green
b. Yellow
c.White
d.Blue

A state where Green Revolution increased the agricultural production
Odisha

Mumbai

Chennai

Punjab




10.
earth.

11.

12.

g2opY

Identify the given Conventional Symbol used on the Map.

a)Main Roads b)Railways c)Sewer d)Power Line

The helps to locate the exact position of places and time on the

Compass
Grid
Latitudes
Longitudes

Complete the statement:
Neighbourhood Watch Plan is a wonderful way of

Encircle the Odd one out
Bungalow Igloo Mansion Flat

Which one of the following is NOT a responsibility of a good neighbor?
We should keep the volume of radio low.

We should help our neighbour in case of an emergency.

We should throw garbage in front of our neighbour’s house.

We should share the parking space.

Jaspal Rana , Mary kom etc. have inspired many others to pursue sports as a

career.

A.

15.

TRUE B) FALSE

A popular medium which establishes a direct contact between the actors and

the audience.

a) Boxing b) Yoga c) Martial Art d) Theatre

16. Thang ta is the martial art form of Kerala.

Q17.

A) TRUE B) FALSE

is a drawing of the Earth on the flat surface




a. Globe

b. Encyclopedia

C. Dictionary

d. Map

Q18. Pranayama regulates and relaxes our body as well as mind.
a. Digestion

b. Excretion

C. Breathing

d. Sensation.

Q19. Rewrite the correct statement

In Coastal areas, People build High rise apartments.

Q20. Which of the following is an Unskilled Labour?

a. Doctor

b. Engineer
c. Coolie
d. Teacher.

SECTION B :- VERY SHORT QUESTIONS (2X8=16)

Q21. Explain the features of two types of migration . (1X2=2)
Q 22. Define Shifting Agriculture. ( 1X2=2)
Q 23 Complete the table (0.5 X 4=2)
Landform Type of Roof Material Used
Plains _a) Cement, Brick
_b) Sloping Coconut shaft, wood
Hilly Sloping c)

Earthquake Prone Area | _ d) Wood




Q24 Specific colours are used to show different features on the Map. Mention the
physical feature represented by the following colours on a Map. (0.5 X4=2)
1. Brown Colour:-

2. Green colour:-

3. Blue Colour:-

4. White Colour:-

Q25. Mechanisation has brought a great change in agriculture sector” Explain in two
points. (2)

Q26. Playing games is an important part of one’s life. Playing different outdoor and
indoor games benefits our body in number of ways. List two ways in which outdoor
games are better than indoor games. (2)

Q27. Suppose on a map the distance between Delhi and Jaipur is shown as 5 cm and
scale of a map is 1cm=100km.
(1+1)
What will be distance between Jaipur and Delhi on the ground ?
Define a Scale.

Q28. Wildebeests of Africa migrate in search of green pastures, crossing many
crocodiles filled rivers. This great migration is known as one of the “ Seven wonders
of the Natural World”. List any two reasons for which animals migrate. (2)

SECTION C - SHORT QUESTIONS ( 3x3=9)

Q29. Hiten is an Army officer and was transferred to Jammu and Kashmir along with
his family. Hiten’s parents were in Delhi and were living in High-rise apartment .
Every year, on Diwali all the family members get together in Delhi to celebrate. The
children explained their grandparents that how their house in Kashmir is different
from the house in Delhi.

(1+1+1)
a. In what type of House Hiten’s parents were living ?
b. How is Hiten’s house different from his parents’ house ? ( Any one point)

C. Give one reason for regional variation in houses.




Q30 Look at the picture and answer the following questions (3)

a. Identify the leisure time activity in the above picture.

b. In which state do we find the above activity?

c. Name the harvest festival in which this leisure time activity is performed
OR

Observe the picture given and answer the following questions

Country Yoga means International
of origin UNION Yoga Day
INDIA (mind. body, soul) | JUNE21
FIND YOUR STYLE
R Jis) 2
e s | -

Vinyasa A number of at

lyengar oA oStk asoh e n
. I ¥4 po B4 each moverr e
focuses is coordinated with the breath Slowsatyied
on correct ittt Shlen poses are held
alignment for along time
of the body
and precise e
moves !@]

28

4
Ashtanga

Aset of poses z S seres of
doneina L postures to
roor:“: heated  giummuktiV style be repeated
to4l de::ree‘\ postures along with chanting |3I .plwll_y
centigrade meditation and relaxation SevRanciKy

1. When is International Yoga Day is celebrated ?
2. Name any one Asanas that yoga teaches us.
3. Give any one benefit of doing Yoga.

Q31. Differentiate between Rotation and Revolution in three points (3)




SECTION D ( LONG QUESTIONS) (5x4=20)

Q32. “Migrants face many problems as they have to move away from their families”
In context to the statement given ,list FIVE hardships that the migrants face. (5)

Q33. “India is a home to a number of cave shelters”. Bhimbetka rock shelters is one
such example of India’s unique heritage. State FIVE features of Bhimbetka rock
shelters. (5)

Q34. Read the passage given below and answer the following questions

It is the wrong attitude of men against women that has existed in India. Girls and
women are not given equal opportunities in education , careers and political system.
But it is changing slowly and women are claiming their rightful place in the society

A. Define Gender Discrimination. (1)

B. List two problems faced by girls and women in present

time. (2)

C. Name any two famous women sports persons of India. (2)

Q35. Describe the journey of Magellan that proved the earth was round . (5).
OR

Look at the diagram given below and label the points marked as A, B and C. Also
List any two characteristics of a Globe.

/
4

m[j

\ —a@@




SECTION E:- SOURCED BASED
QUESTION (2x4=8)

Q36. Read the source given below and answer the following questions (2+2)

Listening to stories has always been a favourite activity for children as well as
grown-ups .The grandparents parents and teachers narrate stories to give
information, expand knowledge and imagination. They help the children to develop
imagination. The narrators use a variety of expressions, voice modulations and
themes to make the stories interesting and entertaining.

A. List two things that makes story narration interesting and entertaining.
B. Mention any two benefits of storytelling.

Q37. Read the source given below and answer the following questions.

In earlier times the farmer and his family looked after the milk giving animals on
their farm. The quality of animals and their feed were not very good as a result the
production of milk was low. Moreover, poor supply system created a scarcity of milk
in both rural and urban areas.

Q1. Select an appropriate reason for low supply of milk.

Modernisation in the country

Good quality feed given to animals

Low quality feed given to animals
Technological development in the country.
Q2. The other name of white revolution is:-

g2op9

a. Operation famine

b. Operation volcano

c. Operation earthquake

d. Operation flood

Q3. Poor Supply system created a of milk in both rural and urban
areas.

a. Delivery b) availability c) Scarcity d) Abduance

Q4. Which one of the following is NOT a Professional labour?

a. Driver b) Doctor c) Teacher d) Scientist

SECTION F:- MAP QUESTIONS (7 |

Q38. On a political map of India, locate and label the following with the help of
information given:-

a. A state which supplies labour to agricultural states

b One island group of Indian Union

C. A State where white revolution originated

d A state which is known for Kushti




e. A state with highest women Literacy rate.
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Q39. Identify the following on the World Map

a.0 - degree Latitude
b.0 - degree Longitude
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Qno. EXPECTED ANSWERS DISTRIBUTION | Total

OF MARKS
1 Seasonal Employment 1 1
2 Voluntary Migration 1 1

3 Go to your neighbours and try to find out the 1

reason
4 1-b, 2-a,3-d,4-c 1 1
5 Only statement A is correct 1 1
6 Story 1 1
7 Participation of women 1 1
8 Use of metals 1 1
9 Railways 1 1
10 Grid 1 1
1 To work collectively as a social unit 1 1
12 igloo 1 1
13 We should throw garbage in front of our 1 1
neighbour’s house

14 True 1 1
15 Theatre 1 1
16 False 1 1
17 Map 1 1




18 Mental calculations 1
19 Does not require . 1
20 Coolie 1
21 Voluntary Migration:- 1
a. When a person migrate on their own wish.
b. Ex:- better jobs , educational opportunities
etc.
Forced Migration
a) Movement of a person , family dues to
disasters 1
b) Ex:- Natural and man-made disasters.
22 Growing crops on a new piece of land once the 2
fertility gets exhausted in known as shifting
agriculture.
23 a. Flat 0.5
b. Stilt house 0.5
c. Cement, bricks and wood '
d. Sloping 0.5
0.5
24 Advantages of Globe :-
1. It shows the correct shape of oceans and
continents. 1
2. It shows the two movements of the Earth .
( ANY OTHER RELEVANT POINT) 1
1. The success of White Revolution
25 . . . 1+1
involved many professionals like
veterinarians , scientists, etc.
2. It also created non professional
occupations like dairy farmers , truck
drivers etc.
(OR Any other relevant answer)
Outdoor games are better than indoor games as:
26 1+1

a. They supply fresh air to our lungs.
b. They refresh our mind in a natural way.




C. They keep us fit.
d. They help develop qualities like teamspirit,
sportsmanship, leadership etc.

(OR Any other relevant answer)

1. Scale can be defined as the ratio of

27 distance between two points on map and on
ground.
2. 5cm=1000 km
1cm= 1000/5
= 200 km on ground.
a. They know which direction to follow
28 b. They learn this from their parents and have
a special sense.
(OR Any other relevant answer)
29 a. High rise apartments
b. Hiten’s house had sloping roof whereas his
parents’ house had flat roof
C. Climate/Landform/Material available
a. Kalarippayattu
30 b. Kerala
C. It includes strikes, kicks and some
weapons.
OR
1. 21 june
2. lyengar
3. It helps us to keep our body fit.
Latitudes :-
31

1. They are the horizontal lines on the globe.

They run from west to east.

3. Example - Equator which lies at zero
degree.

N

Longitudes:-

1. They are the vertical lines on the globe.

They run from north to south.

3. Example - Prime Meridian which lies at zero
degree.

N




Migrants see new places .

32 2. They ex[perience climate that suits them
3. They learn about new customs , traditions 1
etc. 1
1
Migration is like a chain as if the first person who 2
migrates send happily settled information to the
loved ones, the others also migrate to the same
country
(OR Any other relevant answer)
13 History of Houses:-
1. Caves were the earliest form of shelter for 1
man.
2. When the early man gave up hunting , he 1
became a food producer.
3. This was the beginning of the different 1
types of dwellings. They started living near
water bodies for their needs. 1
4. He started building huts with branches and
leaves of trees. 1
5. Later on they discovered that the walls
could be made with mud which are still
found in villages.
34 A. Girls and women are not given equal 1
opportunities in education and political system.
This is known as gender discrimination.
1
a) They are not given equal opportunities in
education. 1
b) They do not get equal wages.
(OR Any other relevant answer)
C. Two famous personalities are- 1
1.Sanya Mirza 2. SainaNehwal 1
(OR Any other relevant answer)
. . 1
35 1. Ferdinand Magellan and his crew began a 1
voyage from Spain in 1519. 1
2. It started with five ships and a crew of 270. 1
3. Almost two years later it ended at same 1
place with only 18 alive members.
4. Magellan was not among the survivors.




5. It proved that the earth was round.

OR
A. North pole
B. Equator
C.South pole
Two characteristics of globe are-
1. It is a three-dimensional view of the earth . OR
2. It shows the location of places on a smaller
scale. 1+1+1+2
3. It shows exact shape and location of
oceans and continents
(OR Any other relevant answer)
16 A. Voice modulation, learn variety of 2
expressions, develops imagination
(OR Any other relevant answer)
Benefits of story telling
1
o Expand knowledge 1
e Gives information
37 1. C) Low quality feed given to animals. 1
2. D) Operation flood 1
3. C) scarcity 1
4. A) driver 1
a. Bihar 1
38 b. Andaman & Nicobar islands/ Lakshadweep 1
islands 1
C. Gujarat 1
d. Haryana 1
e. Kerala
a. Equator 1+1
39

b. Prime Meridian
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